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1. 3T ZFRT A ATdee # TEI U a7 Hia-oliger 3e7 & MUR 9 3o fAflra wdve & fow smefya
forar I &1 A 19 A 3 areld giafSe i B a1 faamaer & IER ARG deadr J8 W # o

&Y

You have been called for the written test based on the online data fumished by you in the web application.
If_you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. 9RA-UH, 80 TAT ¥ o TRA-GRETHT & FT A 7 3R wliew v 39 02 v § |
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3. IR fadeul ARd e YR F e g foamd @ % ve awfvy w7 & 9 @ |

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. 9T ye ST 04 & g IR v AF Ied Icax HIAT v 3 FET Swem |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. 9EAT & 3ca] &a & TAIT rerer AR Seai-qReae & smeet
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. 3MUHI, ScaR-IfEasT H U 717 3Rl & IFTAR, ArefvFrell TEr F sie 95 ¥ A MNTANR Iea’-
Q& & Hei TR 3iTael @1 3T T T Sl T TqT FLAT B

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet.

7. U WA & (olU 3o 3ea 1ol ATAT SATea|
Muitiple answers for a question will be regarded as wrong answer.
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1.

12.

13.

14.

15.

T E1¢ Sl H Hfed Fea-aat Hrs MTHAR Icay IFeqent i) P fEve e o3 forgen @it vy

Question booklet code printed on the top right comer should be written in the OMR answer sheet in the space
provided.

ma-mﬁmmamﬁmmaﬁﬁm

Enter your Name and Roll Number correctly in the question booklet.

AR SecR-iEc 7 Fair afafiean dell/areh v & afer gz 97 O & & o= =ifgw)

All entries in the OMR answer sheet should be with blue/black ball point pen only.

e giet 7 dieTa T 3ufeufay & & 3mas! gl Rae/PreRne W aEamEr #T ariRv]

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be
allowed inside the written test hall.

T8I qOf Bt 9X. AICHANT SeaT-GReaat B ST & Beer et & w3 i Aa e ser-gfEasr
forfiars o A T @ wfer srad g @

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand
over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

-G 3797t 39y aTe T e E

The question booklet can be retained by the candidate.

TETT 3 T2 e % 2N 3130 o adien gTer oige F Al A

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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few oo aftay & 30 Q 9fayr F IR Seedar T gar JMGY

Find the voltage across 30 Q resistor in the given circuit.
8 m

40V 100V

@ 105V (b) 45V © 75V @ 30V

few v aftwer & 10 @ 9y & IR-9R decar FT 9ar 9|

Find the voltage across 10 Q resistor in the given circuit

o mi Om f0 e

@ 50V (b) 10V ) 5V @ 625V

fer T & Udex 9o &1 gar &, afe Sieedierasa12 v §7

What will be the reading of the ammeter in the given figure, if voltmeter reads 12 V?

40 1002

[T o\
> > m

L+

@ 2A
b 1A
(¢) 3A

(d) UAT T FITAT JAT FehdT/cannot be determined

25 x 10*! errgle, farcet Fioia 3T GROT FA &7
How many coulombs of charge do 25 x 10*' electrons possess?

(@ 80x10C (b) 4x10"2C
(c) 40x10"C (d 8x102C

3
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A Re gue ooy # 420 VE e @ e Rar ¥ e aeear (Vour) @i
~ATH T AAHAA AT el §23EY SIS T ITAT HYl

A square wave of £20 V is given to the clamper circuit given below. What is the minimum and
maximum value of the output voltage (Vout)? Assume ideal diode.

o-—i
2ovJ— '[ T
2w ﬂ;" Vin Vout
1 T Y l

@@ -10V,0V (b) -20V,+20V  (¢) =30V,+10V  (d) -10V,+30V

O TF F Vmsinot WIS 9T 1 NATAET frcar 37
What is the average value of a sine wave Vmsinwt over a full cycle?

@ - ® 7 © 0 (@ VZVm

i

U T H 1000 IR 1 @l AW 7 FAT Tl T & I FHIR aRay i @
AEEt A AT TITa deear auT Fo URT &1 dieedT: 2000 cos (1000t + 457) V,

el YT 45 sin (1000t + 1357) Al 311 GCH FH IdT TNT|

A two branch parallel circuit with 1002 resistor in one branch and a single unknown element in the
other branch has the following applied voltage and total current.

Voltage : 2000 cos (1000t +45°)V, Total current : 45 sin (1000t + 135°) A. Find the unknown element.
(@) SfaRreF/Resistor (b) TUTRF/Capacitor
() W&/Inductor (d) TAH ¥ FIF FEI/None of these

& Ao 3R T 9RO FH 5 kQ F 9fRYT AT 5 kQ F RO gy ¥ gy
gfdemem &1 aRANT T Far BT g &7

A series RL circuit has a resistance of 5 kQ and inductive reactance of 5 kQ. What is the magnitude
and phase angle of the effective impedance?

(@ 707kQ,45  (b) 5kQ,45° () 7.07kQ,90° d 5kQ,90°
T BT ddfea TR H@afta yomel &, dEd dleedr va GEfd Fen dieear & 99
T Holl FEY ..o el

In a three phase balanced star connected system, the phase relationship between line voltages and
the respective phase voltages is : i

(a) ogeT aleedl, Fell dleedl ¥ 30°HAF E/Line voltage leads phase voltage by 30°
(b) ST Aeedl, Fel dlecal & 30°HA §/Line voltage lags phase voltage by 30°

(c) oS dloedl, el dieearl ¥ 120° 3% R/Line voltage leads phase voltage by 120°
(d) WA dleedr, Fell diecal F 120° FA §/Line voltage lags phase voltage by 120°
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10.

11,

12.

13.

14.

ZHS MM 5(t) FT PR FATAT.ooonvnee &

Fourier transform of the unit impulse 8(t) is

(a) = (b) 1 (y 0 @) 8w)

A & BREY (57TE) & 9 # @€ Cin GAeT G IR HOT Aow IROA FT FeA
WW(Cout)m%’?

What is the Sum and Carry output (Cout) of a full adder circuit having A and B as inputs, and Cin
as Carry input?

(a) Sum=A®B Cout = A.B + (A @ B).Cin
(b) Sum=A®B®Cin Cout= A.B.Cin
(¢) Sum=A®B Cout = A.B + B.Cin + A.Cin

(d Sum=A®B®Cin Cout=AB+(A®B)Cin

mar:2Qa3nmqﬁﬂﬁﬂgwlovalzvﬁ§wwa}mam
AT ¥ FHEET §9 F e & Y oA SER & A S wF qY S I §
mﬁquﬁwmmﬁr%’?

Two voltage sources of open circuit voltage of 10 V and 12 V with internal resistances 2  and
3 Q respectively are connected in parallel with like terminals shorted together. What is the effective
open circuit voltage of the combination?

(@ W0V (b) 12V (cy 11V (d 108V

o YoATE FAATE GRE Ud 264 W @R Ue @ FAe: 89 UE 208 H G9R F ¢
Yermer dr aifa Reaetr 82

A train moves past a télegraph post and a 264 mts long bridge in 8sec and 20sec respectively. What
is the speed of the train? '

(@) 69.5 Br.AL/EEr / km/hr (b) 70 feR.#F/GeT / kmv/hr
() 79 /e / km/hr (@ 79.2 RR.AL/ELT / km/hr

% PR TR T (ReAe) & v Peafaf@a # @ Fi 7ed 87

Which of the following is false for a continuous time signal?

(a) 5 UF R TATeTel & 39T ¥ w9 & f ofy e Y saed S adar e
Any signal can be expressed as the sum of an odd and an even signals

(b) Y 3Tadt ReaTell 1 GeT AT I BT &
Sum of two periodic signals is always periodic

(c) aﬂéaﬂaﬂa?ﬁﬁmammﬁmaﬁ#ﬁm%mﬁmmm%

Any periodic signal can be expressed as sum of sinusoidal signals
@ sTEFT AR

None of the above
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15. &7 a9 & @t 9 GfYr 1 3aRAT @¥g 0.7 VE R Q=7 areaf B siva gigar
I R S o HAAAG s & dfenshe A fHdar gem? In(2) = 0.7 AR?

The built in potential of a P N junction diode is 0.7 V at room temperature. What will be the
approximate value of built in potential if the doping concentrations on both sides are doubled?
Assume In(2) = 0.7

() 0.9846 V (b) 0.7364V © 07182V d) 049V

16, Rw affgy & D1 T D2, 0.7 V&I 33 dleear dAT 1 mA $r &r =T & AREFAT: 5.1V Ug
62V & R S §i IfE vin=5V §, ar e ateedr (Vour) fraar gefre

In the given circuit D1 and D2 are 5.1 V and 6.2 V zener diodes respectively with forward voltage
of 0.7 V and knee current of ImA. If Vin = 5V, what will be the output voltage (Vout)?

Vin \x\r +15V Vout
1k ; :-mr

(@) 69V () -5.8V ) 58V ) 69V
17. ‘FEPed dauarasar & g9 § i@ & @ g3 w8 ¥ (b PR awr )2

Which of the following is true about transconductance of a MOSFET ( Ip is the Drain Current)?
(@ Ip& GOl HeA F gfaeAa: ﬁ@mﬂnversely Proportional to square root of Ip

(b) Ip & & Hel & a@a mﬂ'qlﬁﬁ/Directly Proportional to square root of Ip

) Ip & gfaamsAa: Eﬂqﬁﬁ/lnversely Proportional to I

(d Ip & I NWIDirectly proportional to Ip

18. di-wAfg¥e & Fay § Feafa@a & & a7 98 &7
Which of the following is true about a P-MOSFET?
L fewaRTA ST RA AR aT sy

Drain current consists of holes flowing from source to drain

IL Haftid f-Afade #I IF FA & fov AT dlecar HY, FA-8-FH Sl dlecar & aRATT
$I AT A JiaT dieear &1 HTSF UATcHS FIAT &9

To turn ON an enhanced P-MOSFET, gate voltage should be made more positve than source
voltage atleast by magnitude of threshold voltage

I 3o JifFargs Aies & WY seafas &

The transconductance is directly proportional to oxide thickness

(a) IdATA/only (b) I&IAF/only (¢) I&IIAonly (d) II& Il ATF only

t-l:l——
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19. hraicAs yats 1 wfaqRa &= & dau # T & w1 aoa &2

Which of the following is FALSE about compensating an operational amplifier?

(a) HOTIcHS ToATe1ael FerTelel 7 NYFT Y TS Y & T wgaret grar &
Used to stabilize the opamp in negative feedback operations
(b) o= 3ngica & gemeh WeT 3ewet T &
Establishes a dominant pole at low frequency
(c) 3 YAR W HaR® & ¥ werEr afifar wreq F:9 & fAv Peew 99a #1 399T
e
May make use of Miller effect to realize large effective capacitances internaily
(d) EfracrAs yats & ¥3 [ear sear §

Increases the bandwith of the operational amplifier

20. 10° A fagd urer @fewr ¥ Jord ARFACHS YaUE F IUART F 10 AT F ITAUA
yaties & Wit $r e &1 gAY ae pFr ¥2

A non-inverting amplifier with gain 10 is realized using an operational amplifier having open loop
gain 10°. What is the feedback factor §?

(a) 99.99x10°  (b) 9.99x107 € 10 @ 909 x107°

21. < fow afaer & vout a1 §2

In the circuit given below, what is Vout ?

AR |
I Dy 92" Da Oy
Vin=Vm sin {wt)
-é" ! l = . Vout

(@ Vm (b) 2Vn () 3Vn d 4Vn

22. @ Ru A7 & @ 2Q ufatus A [Fad YRT &7 9a1 9|

Find the current through the 2 Q resistor in the figure given below

1Q 19
4'A'A"

‘@ fe e =

@@ 0.5A (b) 0.625A © 1A d 125A
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23. W R T a% uRwy @ APeafFaY ¥ FEad ¥ AT aged e &1 J @ K
& A & Peatatld et 8, Fid Y=AB & 9RO &3mI

A logic circuit shown below is used to implement the Boolean expression Y. Which of the
following combinations of values of J and K will result in Y=AB. )

J
A

24. X(t) = cos(2mt) cos(4mt) — sin(2mt) sin(4mt) fQvaa & IEdH . gl
The period of the signal X(t) = cos(2mt) cos(4mt) — sin(2mt) sin(4mt) is

() 1/3s
(b)y 1/6s
(¢) 1/8s

(d) 9T A& FMIT AT Wehcdl/cannot be determined

25. @ R R ¥ IR WRER o ¥ @ gl 7 sgEa fFar Srar 1 vout #
FETEIERT SR I FT §?
A sawtooth waveform is applied to a comparator as shown in the figure given below. What is the
duty ratio of the waveform at Vout?

Vref= 2.5V

I +15V
10V = = = —_— -

W Vin + Vout
ov

—
Time A5V

(8 25% (b)  50%
© 7% @ 100%

B 8 1384




26. 3ITGA Higield Yonell #, | MHz T SUsh dges @aAd 10 kHz Fsaraha R
ZaRT Agfad @1 ¥ AR Pt aed ds qur awe # el R s § g aiy
I & WA & fAU IaA Algfad Reae @ gfelRa B s § a smur &
sfaaaet & fov festan wfdaasr smgfea fraeh @eh nfge?

In an amplitude modulated system, a sinusoidal carrier signal of 1 MHz is modulated by a 10 kHz
sinusoidal signal. If the lower side band and the carrier are suppressed and if the amplitude
modulated signal is sampled for further processing, what should be the minimum sampling
frequency for base band sampling?

(a) 1000 kHz (b) 990 kHz (c) 1980kHz (dy 2020kHz

27. Y=ABC U #=1 & fav amafaf@a R & & #F7er 61 9 G2 3e & ggae= :
Identify the gates G1 and G2 respectively in the figure given below to get Y = ABC

ADC .

Gl Gl
B DC
L_
(a) NOR & AND (b) AND & AND
(c) NAND & OR (d OR&AND

28. i T v oy A, zifeex &1 ware=T 89 1 gen, afe 38F pF A 100 §?

In the circuit given below, what is the operating region of the transistor, if it has a § of 1007

F YAY

1kQ
1kQ g

a1
(a) F'F[f‘}cfl Saturation (b)  HdH/Cut off
(c) HfRT/Active (d) Y@ /Linear

B 9 1384




20. @ fer oy &, @O\ dieedr (Vour) farael B2(3rgAr &Y & el 3ty qun
qRuy warg Rufa # §)

In the circuit given below, what is the output voltage (Vout)? (Assume ideal opamp and the circuit

is at steady state)

1kQ
M —
IuF
S ]
[ Vout
(a 6V (b) ov
(d) 4V

() 2V
e B areear Aol AgAs Uy & v, = 8V, Ve =2V, R1=1 kQ FATR2=2 kQ & ar
9\ dreedT, Vo & 9T «9y|

For the voltage series regulator circuit given below, Vi, = 8V, V= 2V, R1=1 kQ and R2=2 kQ,

30.

find the output Voltage, Vo.

Vin
Vref
(@ 3V by 4V
) 5V d 6V
31. 450 kHz 7 AT Igfcd § Tod U AFAWHOT HIRIEY F 1600 kHz & A A
FAFARa fFar sran g1 wfafee smgfea ... gl
A super heterodyne receiver with an intermediate frequency of 450 kHz is tuned to a signal of
1600 kHz. The image frequency is
(a) 2500kHz (b) 2050 kHz
(c) 1600kHz : (d) 450kHz
B 10 1384




32.

33.

34.

35.

AEREX & ANT 100 Q F A1 YfaTed & TH 240V Thel hell T T TS F) 3T
forar Smar &1 AfE arsREe # 90° # wRR BT Sar B, @ &5 q@nr 3wEa ufdd
ELGIRY

A 240V single phase AC supply is fed to a load resistor of 100 Q through a thyristor. If the thyristor
is fired at 90°, what is the power consumed by the load?

(a) 144 W (b) 432W
(c) 576 W (d 0w

1111 % e #13 & e, v 4fde 3R 3qe aRadw @) s v 1 S adecar
&t &1 1100 & T3 13 & fav At deear fraar 22

A 4 bit Digital to Analog converter (DAC) gives an output voltage of 5 V for an input code of 1111.
What is the output voltage for an input code of 11007
(@ 1V (b)
(cy 3V (d)

2V
4V

AT ¥ e dofieg RTerdr oftay &, afofius & arR 1 dleear & 3me
120V § AT 3l H WURT 9T RS & R & diecar & A AH 50 V FA
& AT Aeear 1 A Faer &7

In a sertes RLC circuit fed from an AC source, the amplitude of the voltage across the resistor is
120 V and the amplitude of the voltages across capacitor and inductor is 50 V each at resonance.
What is the amplitude of the source voltage?

(2 80V (b)
() 170V (d)

120V
220V

AR BT aRay & A @ B effieal & o iy wages aiar feaeh §2

What is the equivalent capacitance of the circuit given below across the terminals A & B?

ic 2C
| | | 1 ] |
A | | 11 — |
—__2C __cn __cn — 3¢
11 | 1
B——11 |
iC ic
(@ C (b) 2C
() 3C d 4C
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36.

37.

38.

39.

8085 WA &, Toreed & 0X03 g Wawex I 0x04 A affw g, eafaf@a s &
frsuresT & 91 GaIe & aiar frasr 87

In 8085 processor, Register B contains 0X03 and Register C contains 0X04, What is the content of
the Accumulator after the execution of the program given below

MVI A, 0X00H
LOOP:ADD B
DCRC

JNZ LOOP
HLT

(@) 0X03 (b) 0X07 () 0X0C (d) OXOF

mg;ﬁﬁrﬁﬁgrﬁaﬁﬁzoomammaiarmmw%lgﬁ:ﬁrmmw
........ {

The energy stored in an iron coil is 2000 J and its copper loss is 40 W. The time constant of the coil
is

(@) 50F.fsec (b) 100 A./sec
(c) 200 F.fsec (d) 400 ®./sec

75V,4 AH$r va §eft, 1.5V,1 AH & qd T4 0.2 Q F Hiaks Sfady & 3uher aiah

fffa ¥ 3R 10 & s 8 F FR-OR dag §, A IFA TERAT GURT F IaT J9MTY

A battery of 7.5 V, 4 AH is formed by using cells of 1.5 V, 1 AH and internal resistance of 0.2 Q.
If a load of 1 Q is connected across the battery, find the current through it.

@ 15A (b) SA ) 6A @ 75A

RS FEuf V.Y, Yo=001 A ey A fw afirarer & oo, ot shrete; arsh o are; fovatar e &2

For the circuit given below with the initial condition Y2Y,Yo= 001, what is the output after three
clock cycles?

L:D——n QL l L] Q:“ D Q!W

CLOCK

(a) 100 (b) 101 ¢y 110 (dy 111

12 1384




40.

41.

42.

43.

A Ru swafare scaeis yads oRoy & v & Fard arr fraeh e 4 smw

URT J90T T Vee =0.7V &l

For the common emitter amplifier circuit given below what is the quiesecent collector current?
Assume that base current is negligible and Vg =0.7V

§IGRQ 1k2

W=

glkﬂ 20002

(a) OmA (b) 4mA ©) 7.5mA (@ 10mA

1.0°C/W & Oca AT & 35T JfReTH W 1.5°C/W & ardry 9iader gjc dam 150°C &
It G aae RAds d god wF 100w g TR I FRfE R I
Bl A 38 WA F U AR Pt gonelr F ggwT fRar e §, e gqe
IRAY YA 75°C T IgT Fhell ¢, e G@RT &1RT Afeehas Afea vty 87

A 100W power transistor having thermal resistance Bjc of 1.5°C/W and maximum junction
temperature specification of 150°C is mounted on a heat sink giving 6ca value of 1.0°C/W. If the
combination is used in an automobile control system where the ambient temperature can reach
75 °C, what is the maximum power that the transistor can dissipate?

(a) 30W (b) S0W © I5W @d 100W

FuRT 9fa sFE dad qur argarw Fuor Yar fr 3fReeite gfaerer sAm: C 7
Zo | H=ROT Y@Wr & YAy aqdar &1 A9 Fhdar §2

The capacitance per unit length and characteristic impedance of a lossless transmission line are
C and Zo respectively. What is the velocity of travelling wave in the transmission line?

@) Z.C () 14Z,0) © ZJ/C d C/z,

50 Q FfAmEIoIE ufaarer & TART Fad & FART 55 Q AT I 7T TF @edor o RRg s

AT ATHSEYIR Tohea &7

What is the VSWR when feeding an RF signal to a 55 Q load through a coaxial cable of
characteristic impedance 50 Q7

(a) 0.048 (b) 0.9 © 1 @ 1.1
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44, S R T ¥-849, 4 e SR (B4B3B2B1) F F (G4Gs G2 G 1) URad® & faw fa

G.a1 SaRfcg Fwar 2IGHr 3ffeafada Far gen?

The K-map given below represents the bit G, for a 4 bit Binary (BsB;3B:B)) to Gray (G4G3 G2 G 1)
converter. What will be the expression of G2?

‘32 B 00 01 11 10
B4B3

00 0 0 1 1
ol 1 | 0 0
11 1 1 0 0
10 0 0 1 1
(a) B; @ B, (b) B; @ By (C) B; @ B, (d) B, @ By

45. T S e &) e gaRT i &, Te i) % ST T g@w el & oA, St haw avdt
v U o 2 feal | Rk w @ et & ofk g e @i sop ffa A
o THIHOT T 17

A staircase light is controlled by two switches, one at the top of the stairs and the other at the
bottom of the stairs, such that the light is ON when and only when one of the switches is ON and
the other switch is OFF. What will be the logic equation in SOP form?

(@ A+B ) A+B (c) AB+AB (d) AB

46, q@mmﬁ?ﬂﬁﬂq-wﬁq$10nsmﬁﬁaﬁamﬁmﬁ§u,waﬂmaaﬁ
A S 10 R 373 o A 3fFaR Fog sgfca o & wwdr 87

What can be maximum clock frequency of a 10 bit ripple counter which will not cause a count to
skip, considering 10ns propagation delay for each of the edge triggered flip flops?

(a) 10MHz (b) 100 MHz (¢) 1GHz (d 10GHz

17 reafRg RRdEr & o adve oRuy & § Ffaw & e &

Calculate the fan out of a TTL circuit with the following specifications :
Io,_(max) = 32mA, Iu,(max) —- 1.6mA, IOH(max) = 4OOUA, I;H(max) =10 uA

() 10 (b)y 20 (cy 40 (d)y 60

B 14 1384




48. fou 3T gfyuer i & &R 1,57 9aT S9IY |

In the given Opamp circuit find the current I,

vee 10O +13V
AATA"

(@ 0.1mA (b) 0.5mA
() 04mA (d 03mA

49. THA +15V UG ¥ YT U Yads, 1 KQ S & 6 V REr wes aier, v s
FAT &l 95T ¥ o 718 Al 4R 8mA B vads & afFa arg fraer &

An amplifier operating from single +15 V supply provides a 6 V peak sine wave signal to 1 KQ
load. DC current drawn from the supply is 8mA. What is the power dissipation in the amplifier?

(@ 120mW (b) 18mW
© 102mW d 225mW
50. 3T Agfed H IR AT gadkr Hr afewr 7 g7 .............. ZERT 8T §

The reduction in gain of an RC coupled amplifier at high frequency is caused by
(@) Y FfcRIU®/Biasing resistors

(b) TfSEeRT i 3afke afarinternal capacitance of transistors

() 9Ty A JIHA HerRA/Coupling capacitors in the circuit

(d) gifSFer F1 T 9fAAY/Output resistance of transistor

51. I AW f& deear watde # 1000 Hz 3fed U1 60 dB d 3 dB #r Sfr afewr ¥ g
el Y fAreT IR e HfeT iegfham 81 1 MHz & sadr afer &1 aar sem

Consider a voltage amplifier having a frequency response of the single pole low pass filter with a dc
gain of 60 dB and 3 dB frequency of 1000 Hz. Find its gain at 1 MHz.

(a) 60dB (b) 40dB
) 20dB @ 0dB
B 15 1384




50. UE URT AT ¥ R F9 1 KQ ¥ o 9fa0y & diecar Wat® ¥ eiyd fRar Sem ©
ar sudT T dieear 20% Tedt ¥ vats F Fe gfakie fhder &7

The output voltage of a voltage amplifier is found to decrease by 20% when a load resistance of
1 KQ is connected. What is the output resistance of the amplifier?

(a) 200Q (b) 250Q (c) 1000 (d 50008

53, FeOOE ¥ H9U & & 36T & 9T R

Select the correct statement about a semiconductor

(2) FoFEr afalierd g ALl A HAE
Electron mobility is less than hole mobility

(b) ZoEEI farlieTdr giet Arfcrefierar & JfOF &
Electron mobility is more than hole mobility

() FoRCI UE it arfcrefieral HAA &
Electron and hole mobilities are equal

(d) S ITIgEd faggd & A INERADAE

Electrons accelerate in the direction of applied electric field

54. & SRS IeTAIRA F g Rw wRuw F @ 1F V Far e

Find I and V in the given circuit assuming ideal diode

E—1

+
AR
I3 |1
]
—_—S\
(a) 2mA, o6V (b} OmA, 0.6V (©) OmA,5V (d 2mA,-5V

55. ARy aEE TEeAd # 100 V F A ol | MHz fr Imgfea €, @@ Aigest Rsaer A
20 V FT 3AH TUT 10 kHz A Fgieq &, A 3 Higed H HigewT gabin AT

gvm?

What will be the modulation index of an amplitude modulator if carrier signal has amplitude of
100 V and frequency 1 MHz whereas modulating signal has amplitude of 20 V and frequency
10 kHz?

(& 0.01 (b) 0.1 © 02 d 5
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56.

97.

58.

150 mA FF 307 a8 a7 & AT, 28V & IAIFAT vl § F 12 v BufAg
e aa & v T Re oy & @ Rs & 307w a9 &1 3rwaad w71 (@R
aleedr 12 V aur o= 3E1E $r & aieear 10 mA B)I

Calculate the maximum value of Rs in the given circuit to give 12 V regulated output from an
unregulated supply of 28 V for a maximum load current of 150 mA (Zener voltage is 12 V and knee
current of Zener diode is 10 mA)

Rs

28v

(a) 110Q (b) 106.67Q (c) 120Q (dy 100Q

50V-0-50 V (rms) ¥ gfdclias aleear & @y AT fAswrlt SABER # 3uET & o
aET Rvewr aR9Y A 9gFd s & AU nfda frae donsdr e 82

What is the minimum PIV required for a diode used in a full wave rectifier circuit using a centre
tapped transformer with a secondary voltage of 50V-0-50 V (rms)?

(a) 1414V (b) 100V () 7070V d 50V

v U Arahe aay ganT e AT i ggar
Identify the gate realized by the MOSFET circuit shown below

vad Vdd

Cut
s
-Vss
(a) AND gate (b} NAND gate (¢) ORpgate (d) NOR gate
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59. (asin’t) ¥ T H (a cos’t) FT dFhelaT F<|
Differentiate (a cos’t) w.r.to (a sin’t)
(a) cott (b) -cott (c) tant (dy —tant

60. m;ﬁwﬂwﬁﬁmﬁf@aﬁﬁﬁﬁ-mgﬁ?ﬁgvﬂﬁmh
Which of the following advantages are there for a Darlington pair compared with single transistor?
() 3T URT Afe/High current gain
(i) 3o Ry gfae/High input resistance
(iiiy 3TT dlecdr dfe/High voltage gain
(iv) 3T &3 fa¥aR/High bandwidth

(@ (@, (i) . (b (), (D) (© (), (i), (1) ) ), (i), iv)
61. 4+3j Q& i IFATHr & T 20V rms TH deeal Ad § dig # 3alka & a9y
ftrrgs grar fRaer 82

What is the maximum power that can be transferred to a load from a 20V rms AC voltage source
with internal impedance of 4+3j Q7

() 4W (b) 5W (© 20W @ 25W

62. 120 X T F Ioo1d IV 30°F| SHHT F4$ IAT oamC |
The angle of elevation of a tower 120m away is 30°. Find its height?
(@ 80v3m (b) 60m () 40v3m (d) 240m

63. P TAR #, WA TF ATAFOT (3TSTHIE) TF YR & [A&90T § gl U Ucdih
Iealadl Uil & JTY FEAET FIAT & TOR AT A NETHAE i Aivd F 3eagT
FT & T TS SaA &1 399 fRar Srar g1 Ffaf@a & & o=1r aed g2

In digital communication, Inter Symbol Interference (ISI) is a form of distortion where one symbol
interferes with subsequent symbols. An eye diagram is used to study the extent of ISI in a
communication channel. Which of the following is FALSE?

(a) U EYaTeelt & 3% SIA W ST TFar g
The eye diagram can be observed in an oscilloscope
(b) 313 3T Fr disSiaRTer FF UTaT §, ST aeT JPTHINE & & afaaR¥a e o
ETS R
Width of the eye opening indicates interval where wave can be sampled without ISI
©) faRrsE qRwad Foe & 38 Hafeier HT Fa1g, 1@ F FU 39TT ! AT FHIAT 8
Height of the eye opening at a specific sampling time defines the margin over noise
(d) AT F1 I3 AT HSTHHTS TS A VEIF §

Band-limiting the channel helps to reduce ISI
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64.

65.

66.

67.

68.

difzar f@eae &1 d3 [@FAR 4.5 MHz &1 1024 SO0 &G0 & 1T QAfivs @
I0ART HY e & '@eRor A Ser ¥ T F fov anfia fgean Re e
........... gl

The bandwidth of a video signal is 4.5 MHz. The signal is to be transmitted using PCM with
1024 quantization levels. The minimum bit rate required for transmission is

(a) 90 Mbps (b) 45 Mbps
() 4.5Mbps (d) 10 Mbps

3 GHz # yHfeld, 2 psec - ¥ig Haf & Jad 0F Fied ©R, @iad A ¥ a5
TET F 10 psec 915 wfatals urod Far §1 de9 FT WA FE... ... gl

A pulsed radar, operating at 3 GHz, having pulse width of 2 usec receives an echo from a target
10 psec after sending the signal. The approximate range of the target is

(8 300m (b) 1500 m

() 3000m (d  5000m

TAA Uil e & v Fgdiives &1 sier aX fidfieasd & ., gl
The data rate of QPSK i ------enemeeenn as that of BPSK for the same symbol rate.
(a) YHA/Same (b) G Twice

(c) ﬁ?l?iTlThrice (d) iﬁﬂﬂ[fF our times

U Aeah H Aled FAGed SA T 5Q ¥ IFd ¢ IR 3w Aead F IRUR 5 Q
qﬁmﬂaﬁaﬁﬁﬁﬁmmﬁ,ﬁmﬁmaﬂiﬁﬁmaagﬂﬁmmm

The Norton equivalent of a network consists of 5 A and 5 Q. If a 5 Q resistor is connected across
this network, what will be the Thevenin equivalent of the resulting network?

(@ 125V,25Q by 5V,25Q
(c) 25V,25Q d 25V,5Q
8 e zrer a@ vd 16f9T 3@ w9 @ g AR HOFAF .. FT $SRIT HT T
gl
A memory with 8 bit data bus and 16 bit address bus can store a maximum of
(a) 256 bytes (b) 64 kbytes
(¢) 256 kbytes (d) 1024 bytes
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69. AR UF waTEm SOW, TEGIAR A HR W &aT § A Tho gifereex q Iad a1 T
vatid F e gifewedl & T sfdra feras Aafee segrais el 57 I8 A
wt [F grawar e &

What is the minimum power rating required for a transistor used in class A amplifier with single

transistor if the amplifier delivers 50 W to a transformer coupled load? Assume that the transformer

15 ideal?
(8) 25W (b) S0W
© 75W @ 100W

70. ¥R & a3 & oreh §, afiswdr dles foue duee & gidwd aRade
fehrar g7

The length of the rectangle is halved while its breadth is tripled. What is the percentage change in

area?

(@) 25% dcl/increase (b)  50% dgdl/increase

(c) 50% "rTdl/decrease (d)  75% Gcdl/decrease
71. SOECA AT oo T gFg B

Electron volt is the unit of

(a) dlecdl/Voltage (b)  HTAA/Charge

(c) enRa/Capacitance (@)  Fa/Energy

72. aj*m,wsﬁzdmm4®zﬁmémﬁm#,aﬁmwﬁ?r$qm
FIUF TaT 36 Pre aiar 1 TS H Fa$ fhotr 87

Due to Sun, a 6 ft man casts a shadow of 4 ft, whereas a pole next to the man casts a shadow of
36 ft. What is the height of the pole?

(@) 63 Bre/tt (b) 72 HrEHt
(c) 54 PR/t @ 58 hre/m
B 20 1384




73.

74.

75,

76,

LkHz & 1 pF &1 aiar § g dafossr aifeT & gares & foe rflia afaier &1 yar
il

Find the value of the resistance required for a Wienbridge oscillator to operate at 1 kHz with a
capacitance of | uF.

500 1000 500
(a) — (by — (©) Tan (d) 1000w

R L

AdfeT 9HY Fear & & Aol & A § IR & fega dcad F:; o )
gfaeaid f&har a1 aear 21

Thevenin’s theorem states that a given electrical network connected to a pair of terminals can be
replaced with

(@) AT H THhd Y & TIY Tehd daeedl aid

a single voltage source in parallel with a single resistance
(b) Hofr F vewhd 9fRIT F AT T Qeedr IT

a single voltage source in series with a single resistance
(c) HHAGR 7 UHe YR & T Tohel ORT G

a single current source in parallel with a single resistance

(d) Aot § T 9TRIT F Y Tea U7 T

a single current source in series with a single resistance

UF TUE GO & AT, HeRoT Foled F AN ..o g =nfgel

For a stable system, poles of the transfer function

(@) T TH-coe & 37¢f gfdomad # g aifgw

should lie entirely in the right half of the s-plane

(b) T HeT H Q=T AR
should lie on the Y axis

(c) YUTE: TH-CoT & e qrarad H g o
should lie entirely in the left half of the s-plane

(d) 3IEIH H g AT

should lie at the origin

300 K & &19A H varfara [&feFa sle & 2 mA & ey arr §1 aifds afaer s
Gifcodl

A Silicon diode operating at a temperature of 300 K has a bias current of 2 mA. Find the dynamic
resistance

@ 13Q (b) 26Q © 130 (d 26Q
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77.

78.

79.

80.

g,6,8,9, 10,7, 12, 15, 22, 15 353 &I TEAD oo tl
The mode of the data : 9, 6, 8,9, 10, 7, 12, 15, 22, 15 is?

(a) 9and 15 (b) 12
(c) 22 (@ 10

8085 AT H fArafai@a § 4 Hi-ar 16 fae Towew §7

Which of the following is a 16 bit register in 8085 processor?
@) fafa Ada=/Stack pointer

(ii) ST ITUTeR/Program counter
(iii) FIIH/Accumulator

(a) (i) A/only (b)  (ii) ATd/only
(c) (ii) and (iii) (d) (i) and (ii)

;ﬂﬁﬁvqﬁqﬂaﬁmﬁmvﬁﬁmwmm HIX Vin = 10 sin (100 nt) §
@A, Vo 1 RER-RwR ateear fraa 87

The diode in the circuit given below has a cut in voltage of 0.7V. If Vin = 10 sin (100 nt), what is
the peak to peak voltage of Vo?

1k

—A\AVY
vin @ Vo
T T
@ 73V ) 9.1V © 93V @ 127V

WFed SH A Foell A urT tFFF F 10A ¥ 2 A F W §9 § aRafda & 2
afe oOfRd emf40V &, A AT t Fohdam 87

The current in a coil of inductance 5 H changes linearly from 10 A to 2 A in t seconds. If the
induced emf is 40 V, what is the time t?

(@ s (b) 2s © ds @ 8s
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